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20 Mensuration-l Exercisé

EREYENVSE - JOal.

Solukion .-

iy we have,
_entth = 5.5m and, B¥eadth =2.4wm
WIKT,
Avea of a veclangle - | enpth ¥ Bitadth.
" Avea of o Yeclangle = £ SwmA24™
= 13.amb
vy we have,
LErL;(:_ilr_lr". = |Eocm,. Bieadb. = Iﬂ,.ntrn
WIE Know Thabt., 1m: jpoem. =2 Jem o -
1o
Length = 180 cm = lBOX ILDDm £1.am
Breadth = I1Sccm = |5ux-lbnm AN
Pxea of

o riéannBIF: Lenphh wBveady,

= |=EBEmE S

= 3. p'rnl

Avea oF o reckemgle = g 4 .-

Solution -2 -

) we haWe.

side of e Squave = 2.6cm.

We Enoul '{hl’.ﬂ., Avea OFf o S9 uare = S'Ag}'{-s[f}e—-{‘Sde}ﬁL

- ATEq of the Squove = 3.gcum LD .& Cm

= &.FEcm—

ATea of Ha€ Squeye —E.Foomt

Uiy we have,

Side of The SO umye = =S,

we Knowd that, dm = leem

AT eq af the Square = L.E"def

Gid€ of the Sguarve =1.8dwm = 1-&vn R@Q

CATEa of Ine Sgyave

[ wn - desimel Q’?']

= & ¢ &

= 1oy 1QEm

= “‘I'(ILC\-HL_

,QQ
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| Solutien-5:- :
Uy woe havve,

Lengbh = (Rsm™, Breadtt, =

= Yoom
Aveo of a th}__qﬂﬁhlay -Fni'lci. iy L\Ec{cﬂres = P

We know Haak,

-
heckare = 1;;'.:" e =lo, bonwm-

P of o Sete Rl Bl - Lenblicenseirn

Laﬁ'quo-‘,m

= 50,080

a
\m = !

hectares.
lo,o00 '
A'ﬁg‘q d‘ o FE\C{G"‘%L\lC\V Fie|d = 6@’1}\9:{&‘.95
le,000
© pAsea of a relangulay field. & lhectares.

an we hove, LE'-T'\QEM ="Tam sdwm = 15 mat 5 loem

1smt S0cm = —|-=-mtf::£_jp
= s -5mM
Breadin = 8o

SopEea of o veco Lqﬁﬂg‘[ﬂ{ field = l-?-ﬂ{ijth*:fﬂ'lfndt\v\

= st dom .
= C!oénm]_

we know ek A Reckares.
{=150-] =)

tai=

Area of o vecknaular pleld - 9680 i~ hee boves
lo oo

- Azea of o velbwglar field. ™ € 9o heclares,

Seolukion —og I-
epiven that .

Poor (0 length =3m and Bxedtn -am

Lergbl, = lBm amd Breadth =wom
Asea of L

wall of

Length o Bvenditn 0f doov
= amiaim :EmL
prea aof

Wall = Lendth ob Wall x Bveadth ot ulal}
= womdliem :-IOD"HL |
| - |
Avea ot Paintng Wall = Avea o4 Wall - Area of Dogy

oa
Ibem™ —¢gm- =4 m-
Poinking wea|l = A4 % R B .50

foe‘-l:' of

ot ” F E 2
C* coak pet "ﬂ'm'Pn_:,nthj = R5 3 sd]
oot of r‘c\_ih]e'm_-j wWal = qyva.50 =

* Rsd3s
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Solution —p1 2%

Tt1s  given thadt.

Rectangulay  Shaped wive of Lenghs = Yoom -aund

Rveadth = Z2cm.
6'_]\“1“ ool Pevimelbey of ﬁ}-c}cﬂake = FE"IILMCI:E"’ of Sqlioye

Cor A wivesis inkhe shape of Rec‘k’*“ﬂhe 15 pent inSguave
Shape].
Sc1db) = gisided
= 2 (yo+ad) = ylgided = 18qem = Y tsided
= side =3lem.
[ A=csider]
Coazddb]

=

Avea of sauare = @iIYe qgicmt
Avea of Reclandle - Yo¥ni =®2 ooms

Squave  Encleses mMore aveq.

splution-08 - i '|
TE is gven thak.
Window Pane of dimensiong Lenghh = a5cm l

Bieadth =1gem

Avea of Fang€ = Poane Lgﬂéht-u ¥ Pane Bread by,

= Recr widem

‘ = L-],oc_r(mL |

i
| 5 FH [u:.-r?'t 1ol
| - _m e lo,oen !
] \c,ohl |
|

| = c:.o'—lm)"

‘ . ATea pd Windowd = AW Each penic Avea !

SR L gl = 6. Yg e |

ol ke ¥ € fauved -fc.f G Rindow = C\-Hg,nl"
5'Io.-s‘5

Solutign-o9:-
Ttis gives that,

Maovkle Lenglh = lcem and Byeadbh =i8cm.
Watl of Lendkh = 3m and EBrteadbth = hm

oo Avea of Maskletile =Lenglh af Liley greadts af

Lile
= |pewmy l2eom =180 ¢t
e astaen [0 enfte L]
1o,p00
L
Avea of Kall =3w s ym = 1M
Mo of bles reguived = Area of hail J
Boves of Menhle bile O
=\ooo kil

Total costof the biles for covening pf lall =loootigs= Rsz,rmh—
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solution—|oz-
Gwen that,

Takle Lop - GdmScm = 9%oemd 5cm EaE

Tabl€ Long = 4w S5CM = Elloemt S6m gt |

Avea of Takle = Table Topy Taile Lmﬂ‘}‘ ‘

Asem Lég oy
= Glagewt |

cost to polish ralle = ¢1q5 A0 Palse ‘
L T RasERSY Sncm il Ropafse] |
cost 1o poush Table = AIT5 %8s paiin
Rs.la3g.
fimem lRs =|QDM5¢]E
B
Selution -1~
Ii iS5 Given that,
Room Length =9.681m and B veadbig “ﬂ)"df3=61m
Rectomgulay tile af Lendth = 29em
Breadbh = joem.
Codt Pey tile = Ee & 50. |
Avea of Room = 9.6 a4 6.8 m & 16

Avea of Reclangylay tle = 22 emAtiacm ® Sanen:

A Fe.088m
' 2 YEea af Boom 1
g = |
Nop.otale ~ —_— Lo Olewm= |
Tea of Reckangula e B 61w

s gaakiles.

= Es 6880

. cosk of the tiles CENRAdRen Mo

.sémtion—t-fé;-

Given Squave {ieldof Sicie =riqm.
Avea of squavefield= 119 m yvi949m
= 38oYyl mt
cost of Ralsing ol awn pn the field =
Rs 1-50pev 59.pm.
Melel cost of Balsing of a Lawn onthe field =3a0qixig

= RsYg, 06l.54 Paise |

Total cosl= £s yg,061.50.

Solution -t :- .
Given thal, : C)Q
>
covvidoY of 4 school I_enr_:h.. = am 60 \\
BYeadbth = & m @ C)
Canvas sheel Lenph, = am 6
Breadty =1m @K Q

Avea pf acovvidoYy = LALB = 8™ ygm %
=Ygm-
- O

cavivas Sheet ATEa = Bmxim = &mi o\

T U, (e PO Avea of covridey

Carvens sheel Ay

. )
cask of khe camvas Sheets Y€q. 4o covev bhe .\Q

| cosidors 3ygRs.g = RE | %
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Selution -1 5o

e : : R
Flay ground Lengkh = £am gocm = GS‘-'*GG:“TL“"
= £&-ém
greadth ¢ 25 mypem =454 Elk'g e
Do
=254
Atea of aplay ground = BRE* 234 2SWLYR-

cost of Brfing =1590 04 %X 2.5 = Rs3q4ys,

‘ ‘Pet\mé\'?" of a Pla}, ﬁrnum:.{ = S¢ga.6 +2BY) = 1Em .,

Pevimeter of Shmes Youndthe feld= 3% g grm=-528m

e Bnd ke walks Emlgec.
Time = 5 P = 22y gccends = Ymindl secends.

Sclution—1& ;- ]
Lane lengbh= ikom and Breadb =sm.

B¥icks pf Lengbhic 2 ocm and Breadih s lgem

- 1.
Avea pf o Lome —tapmism = oom

’ e
. ™ = (=]
MEo of o Buiek = FecmX15C 206 o)

- =0 .0%m
o, noe
No- of Byicks = Atea of Lan€ ¢ g,
Afea of BRwick D.;g
_EOJODD
Total cosgl of Bavcks = A0%Rs TS50

FRIZS 05 [ coskper
loes bricks
=Re1%4].

Soluykien-17.:-

sheet of Paper Lentbh = \ascm £ Bready, - gqcp,
Piece of Paper of size Lenpbth=hem d Breadts,=scn,

shee L of Papey Areq = 195 CMX B5cm,

Fiece of Paper Avea = NMemxge,,
(o of envelope s = sheeb of Papeyv Area
Pleo of Papey Avea
= 'a‘iim‘ﬁa-;cc-n.,

=12 .
Mem xgem e

Joo125cm of erveloPes Can Le mmade oul G*"’l%h'e[. Q
e >
Solution-183- 60 (’)\'\

The widthof A clokh =11bem i @
Length of o cloth=2 = & 6
No of diapers =4s. \ZK Q

piece pf cloth Lend bh = 50Cm and %
'E,'\'E‘ndth = A Q @

: >
No-of diapexs = Area pof ami%L‘ .\\\ @

PtEa o ﬂ?-'ec@m \/
\

ecm L @

&s = citler B %
B0 ot i Em \

= A SRS U

A5 t500Cm

\o
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Ul hem At 1—

C_‘.,...l‘,\]e\-\ duwrengign 51_. a |l
'Jeﬂﬁ*.L__- U e = _il
".,“‘;ur&'-\h - Aum = h

; . 1

Ao alvo qven oxea 7 dost and windmos = 50

™

4\.7'?% t-'r“ be e ]l-.r"r.]!r-"! ff‘ dhe  hall.

g the holl
Poree &;. PO
T ]

7 i L;J-‘,.Jm.«.
= j‘.ﬂL“‘ ,ix*:‘" * '\-ﬂ‘h wd bk = [l-h-‘ c.Ei.._..I Aoos

k'
« (2axh+ 36xhi 2uxh g 2uxh - ¥ L

=

axhf 2e4+au) — RO
- (Qaoh-w0hmt
 Toked e @ Papering = (aoh -20 Yt
fde howe

; 1 -
Cost B papeney Aon ttadla, pes Awt = B Kye

Cost B PQ_!&,,,.‘,‘E e wallt = ¥y 9ung

Loow s , we %p{‘

D eo ':'4 :I'"Meﬁn_a { %, m':—j i p_‘ﬂﬂ_?_ B
B1 gy

kel

= Sidp m*
Bub  woel houe ) Total  oven = (aph2goym>

1rokh-&D = 111y

120k = 14p8
T

T 5 LIS
1 'l—"-e'-q"n": '{)Jlr dhe a2 dom
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chapter-20 Mensuratio
Exercise-20.2

Edervcise-8o0-2 .
Solurion -ol'-
Lethrrcp bE i€ GByassy L
Awan, and Let |”.g:_r~;=‘q |

be B.€ pittrnol boundasy VES OF tie i

Y

WE hayv e,
Lengby oo ap = Lran
Rveadii, oFf B = 96m .

Asea 0f Lawn Apen = Yovagwh

_ Iooe
= oo m®

Lengt  oF P& = (Yoistgym

BY¥eadbty of R = (254242)m
“-ATea of FPars - by J\#."tm""'
= 89¢wr

Mow2

ATE s o1 the Pa ik

T Avea OF Fégs — A vea of )

(13’”-" @00 ‘th."'
= Qq [y

13/ 15

C ol | (5 F jé‘L'E\lI:;“"_[\qe Fabh = g -

Spolukion —pai- :
Let ACD Le the SFuave Pavie ang et p
> &.I'-Q'_C, Le

Bhe intern ol boun daries Stthe pe oy,
- "L e »

wre have,
Lend b AR =30m — Side ng

Lgné-;l,-ln. Pa = Rom-am
= rﬂ_ﬁ:m:s%depc‘:}
ATeo. gf ABcp = BOMAL Zom
= Joom-
A¥ea of paps = 28 P AL iy
=T fqm-
TO{DJ:"DSL:RSH‘}E'
Cogt Fer S%-m = Rsiiqg
wip
= ﬂil\'ra

T8y

Rs .
Gl Fey £9 .
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Re ctangular ¢ helt

Lengll, = Fi.l-g?m

Breadbth =EBoecm

Aseq = {06 % 2 o e~

= Boeeo {'m'_

S5 uase 0f side =lodm

frea of SLua¥e€ s lax|oemt

= looe m

AT€a of 4 squavey = Y XA €y
il L= TP |

Asca Of Remaining sheef =A¥eq Of T8k - Yx Aveaoise
= FHooo cm T —Yoocm =T Eomc—
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